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➢ Fiscal policy is all about government expenditure, its
composition and its financing. There are several ways
through which a government can raise money.

➢ It imposes various taxes.
➢ It also has access to non-tax revenues.
➢ It can also raise non-debt receipts through public sector

disinvestments. Besides, the government also borrows.
➢ The total government expenditure reflects what it collects

from these different sources.
➢ Fiscal policy influences aggregate demand for goods and

services in an economy in several ways. Government
expenditure (G), we know, is a component of aggregate
demand. Any change in government expenditure will,
therefore, directly impact demand.

Fiscal Policy: Receipts and Expenditures of the Government
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➢ However, when government expenditure is financed
through borrowings, it adds to government debt.
Debt-financed government expenditure has much
wider implication for business, as it impacts not only
government spending but also overall private sector
spending on goods and services, both at present and
in the future.

➢ This, in fact, is the most important component of fiscal
policy that needs to be monitored by managers.

➢ Finally, a change in the tax rates can change the
disposable income with individuals and companies.
This can influence total spending on consumption and
investment goods and services in the economy.

Fiscal Policy: Receipts and Expenditures of the Government
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Government expenditure is divided into two parts: 
a) Revenue expenditure (current expenditure), and 
b) Capital expenditure. 

Expenditures of the Government
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Expenditures of the Government
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➢The first category of revenue expenditure refers to
government spending on consumption goods and
services. This includes payments for the purchase of
goals by the government, which are in the nature of
consumables and are used up in the process of providing
a good or service, for example, stationary, medicines for
the hospitals run by the government, uniforms, furniture
etc.

➢Consumption expenditure, besides goods, also includes
payments for consumption of seniors provided by the
government servants belonging to police, defense, and
other government ministries and so on.

➢In other words, this category of revenue expenditure can
he equated with Government consumption in our GDP.1
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Revenue expenditure can be classified under three broad categories:



Expenditures of the Government
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Revenue expenditure can be classified under three broad categories:

➢Another category of revenue expenditure consists of what are
known as "transfer payments." These expenditures are so called
because they are not payments in lieu of any current production
of goods or service by the receiver (and, therefore, do not add to
GDP). They are just transferred from one section of the society
(tax-payers) to another section (which needs it) without adding
to production of any goods and services in the economy.
Examples will be payments towards food and fertilizer subsidy,
unemployment benefit, pension etc. These are not paid against
any exchange of goods and services.
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➢A third category of revenue expenditure is interest on national
debt. This is also a transfer payment but is treated as a separate
category. Interest payments on national debt are transfer
payments in the sense that they are payments for money
borrowed over a period of time for various reasons, including war
or slowdowns, and are not payments for any current goods or
services produced. They deserve a special category as the size of
the interest outgo reflects the size of the national debt.3
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Government expenditure, as reported, is classified in different ways:

Expenditures of the Government
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Development and 
Non-developmental 

➢By departments; i.e., 
development and 
non-developmental 
expenditure under 
various departments 
of the government. 
Thus, components of 
revenue and capital 
expenditure will find 
a place in both 
development and 
non-development 
expenditure; 

Plan and Non-plan 
Expenditure 

➢By plan and non-
plan expenditure 
representing new 
and existing works 
under India's five-
year plans. Here 
also, both plan and 
non-plan 
expenditure will 
have elements of 
revenue and capital 
expenditures; and, 

Revenue and Capital 
Expenditure

➢By revenue and 
capital expenditure, 
irrespective of 
development/non-
development or 
plan/non-plan. In 
the discussion of 
India's fiscal policy in 
this chapter, we will 
follow the 
classification given 
in above, i.e., 
revenue and capital 
expenditure'.



➢ Capital expenditure is government's spending on new roads, new
buildings and structures, new machines and equipments and other
such durable assets, which result in further production of goods and
services over an extended period of time.

➢ Capital expenditure adds to growth while revenue expenditure, once
incurred, is gone and, at best, can have a short-term impact on the
economy.

Expenditures of the Government

➢ It should be noted, however, that certain items of expenditure like
spending on education, which Is essentially spending on human
capital, is treated as revenue expenditure, excluding the school
building which is considered as capital expenditure. Similarly,
expenditure on R&D is treated as revenue expenditure rather than
capital expenditure.

➢ Revenue expenditure may, therefore, be somewhat overstated and
capital expenditure understated.
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India’s taxation policy  has been designed to perform two basic functions;
1. Revenue Function
2. Regulatory Functions

India’s Taxation Policy-Functions

10



➢ Taxes are an important source of revenue for the government.
In addition to taxes, government collects what are known as
non-tax revenues.

➢ For the central government, these reflect interest and dividend
received from its various investments, primarily, in public sector
undertakings, fees etc.

India’s Taxation Policy-Functions
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➢ For the state governments, besides the above, a major part
of non-tax revenue comes from lotteries and user charges.

➢ Tax revenue plus non-tax revenue constitute the revenue
receipts or the current income of the government.

➢ In both central government and state government's own'
total revenue receipts, non-tax revenue accounts for roughly
one-fourth of the revenues. Additionally, governments
receive money through recovery of loans and public sector
disinvestments. These are part of capital receipts.

➢ Thus, tax revenue, non-tax revenue (revenue receipts) plus
recovery of loans and receipts from public sector
disinvestments (capital receipts), constitute the
government's own money.

➢ The balance of receipts is what the government borrows.

India’s Taxation Policy-Functions
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Taxes are of two types: direct and indirect. 
➢ Direct taxes are levied on income or income-related assets. Thus,

personal income tax, corporate income tax, wealth tax, capital gains tax
etc., are all examples of direct tax. In India, most of the direct tax
collection originates at the central government level. States have very
little of their own direct tax revenues; however, they receive a share of
centre's direct tax revenue. One characteristic of direct taxes is that they
are progressive in nature, in the sense that as we move from one
income bracket to the next, the incidence of tax on our income
increases.

India’s Taxation Policy-Functions
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Receipts of the Government
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Receipts of the Government
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Receipts of the Government
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Receipts of the Government
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Receipts of the Government
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Receipts of the Government
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Receipts of the 
Government



➢ For example, Income up to Rs 2,50,000, we pay 0% tax; Income from Rs
2,50,000 – Rs 5,00,000, we pay 5% tax; Income from Rs 5,00,000 –
10,00,000 we pay 20% tax and, above Rs 10,00,000, we pay 30% tax. In
other words, as the marginal tax rate, i.e., the proportion of additional
income, which must be paid in taxes, goes up from 10 to 20 to 30 per
cent with each tax bracket, the average tax, i.e., the proportion of our
total income, which has to be paid in the form of taxes also goes up. This
implies that as GDP increases, direct taxes being progressive, their share
should increase faster than the rate of growth of GDP.

➢ Another characteristic of direct taxes is that they affect both aggregate
demand and aggregate supply. A change in the tax rates will certainly
affect aggregate demand. But this will be the case only up to a point.

➢ If the tax rates are very high, this may lead not only to non-compliance
but can also adversely affect incentive to produce and, thereby, stall
aggregate supply growth.

➢ Most governments try to strike a balance between demand and supply
sides of direct taxes.

Receipts of the Government
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➢ Indirect taxes are levied on goods and services produced. Important
items of indirect taxes for the central government are custom and
excise duties.

➢ For the state governments, these are sales tax, state excise duties,
motor vehicle tax, and stamp duty. Indirect taxes are regressive.

➢ As the incomes rise, the incidence of tax on income goes down.
Assume a person's monthly income to be Rs. 1000. Given this income,
he will probably spend the entire amount in buying goods and
services. The incidence of indirect tax will thus be on 100 per cent of
his income.

➢ Now assume his monthly Income is Rs. 1, 00,000, of which he needs
Rs. 10,000 to meet his monthly purchases of goods and services. Thus
the incidence of indirect tax, when his income rises to Rs. 1, 00,000,
comes down to only on 10 per cent of his income. This implies that as
incomes (GDP) rise, the ratio of direct to indirect taxes should move in
favour of direct taxes, since direct taxes are progressive and indirect
taxes are regressive.

Receipts of the Government
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Revenue Budget consist of revenue receipt and the expenditure met from 
such revenues.

Receipts and Expenditures of the Central Government
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Receipts and Expenditures of the Central Government
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➢ Government deficit, henceforth called fiscal deficit, to be consistent with India's
budgetary language, arises because total government expenditure exceeds
government's own receipts.

➢ It is therefore the difference between what the government gets by way of tax and
non-tax revenue, recovery of loans and receipts from the public sector
disinvestments (total receipts) and what it spends annually (total expenditure).
Fiscal deficit is an annual figure. This is financed through borrowing.

➢ Fiscal deficit can be incurred either on revenue account, called the revenue deficit
or on capital account.

Government Debt
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Revenue deficit arises when the revenue expenditure of the
government exceeds the revenue receipts. In other words, the
government is unable to meet its day-to-day expenditure
(government's 'C' + transfer payments + interest payments) out
of its current Income. The government is living beyond its
means and is borrowing to finance the gap. Fiscal deficit on
capital account, on the other hand, is due to government's ‘I’.
In other words, the government borrows money to invest for
creation of assets, which lead to further production of goods
and services in the economy.
Fiscal deficit is financed through two sources:
a) Domestic sources and,
b) External sources.

Government Debt
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Government Debt
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Domestic sources 

➢Central government's domestic
sources include market
borrowings (government floats a
bond, for example) and other
liabilities comprising of small
savings, provident funds etc.
State government's domestic
sources include loans from the
central government, market
borrowings and state provident
funds and small savings.

External sources

➢External sources can be bilateral
(from another country),
multilateral (from international
organizations like the World Bank
or the Asian Development Bank)
or foreign private banks. State
government: access external
sources of financing only through
the central government. Both
central and state governments
can borrow, also, from the
central bank i.e., the Reserve
Bank of India (RBI), though the
mode of borrowing from the
central bank has undergone a
change through time.



➢ When the deficit is being financed from borrowing from RBI, it
is called monetized deficit, so called because it results in an
increase in money supply. Monetized deficit is a part of fiscal
deficit but is not reported separately because it is treated as a
part of market borrowing where RBI, also, is a player.

➢ Today, in India, government borrowings from either external
sources or RBI are insignificant. Most of the borrowing is from
the domestic market (80 per cent or more) and other
liabilities.

➢ When fiscal deficit, that is, the money borrowed to pay off the
annual deficits, is accumulated over the years, we get a stock
of debt that the government owes to the various entities from
whom it has borrowed to finance each year's deficit. That
accumulated debt is called government debt or, public debt or,
national debt. Debt is a stock and deficit is a flow.

Government Debt
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Primary deficit = fiscal deficit - interest payments. 
➢ The idea is as follows: governments borrow money every year, which

leads to an accumulation of debt on which interest has to be paid. If we
want to find out to what extent the present government is living within
its means we should not hold it responsible for the interest outgo, which
is arising out of borrowings of previous governments for expenditures
incurred in the past. It is not due to any current fiscal profligacy of the
present government. So while fiscal deficit is the difference between
government's total expenditure and its total receipts, primary deficit is
the difference between the government's current expenditure (where
current is defined as total expenditure minus interest payments), minus
government's total receipts. Clearly, if there is still a deficit, i.e., primary
deficit, and it is positive, this means that the present government is also
resorting to borrowing to meet its current expenditure. This has
implications for future debt build up in the economy.

Government Debt
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Budgetary Deficit: This is defined as the excess of total budgetary expenditure 
(both on revenue and capital accounts) over total budgetary receipts (both on 
revenue and capital account).

Gross Fiscal Deficit: This is defined as the excess of total expenditure
including loans net of recovery over revenue receipts (including external
grants) and non-debt capital receipts. This, in effect, means the excess of
government expenditure over government revenue and grants and thus
reflects the total resource gap. This measure has been adopted( by the IMF as
the principal policy target in evaluating the performance of countries seeking
assistance.

Net fiscal deficit : Gross Fiscal Deficit subtract net lending of the Central
government
Primary Deficit: Net fiscal deficit less interest payments.

Receipts and Expenditures of the Central Government
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A: Revenue Account
1. Revenue Receipts (a + b)
(a) Tax Revenue*
(b) Non-tax Revenue
2. Revenue Expenditure (a + b + c)
(a) Interest Payment
(b) Major Subsidies
(c) Defence Expenditure
3. Revenue Deficit (2 - 1)
B: Capital Account
1. Capital Receipts (a + b + c)
(a) Recovery of Loans
(b) Other Receipts**
(c) Borrowings and other Liabilities
2. Capital Expenditure
C: Total Expenditure (A.2 + B.2)
1. Plan Expenditure
2. Non-Plan Expenditure
D: Fiscal Deficit =[C - A.l - B.l(a) - B.l(b)]
E: Primary Deficit (D - A.2(a)) ** Consisting mainly of PSU disinvestment

Fiscal Deficit= Total Expenditure - Revenue 
Receipts - Recovery of Loans - Other 
Receipts**

Fiscal Deficit
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India is likely to miss its fiscal deficit target for the current

financial year, despite receiving an additional dividend from

the central bank, five government officials and advisers said,

as tax collections have sunk amid a sharp slowdown.

With economic growth falling to a

six-year low of 5% in the April-

June quarter, the sources said the

government could toward the

end of 2019 be forced to raise

the fiscal deficit target to 3.5% of

GDP from 3.3%, amid pressure

for additional stimulus

measures.

Case
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Tax collections could fall by as much as 1 trillion rupees

($14 billion), or 4% of $344 billion annual target, two of the

officials said, noting that sharp shortfalls are expected both

in goods and services tax (GST) and income tax

collections.

"Overshooting the fiscal deficit 

target is inevitable this year as the 

economic slowdown has hit 

government revenue," a senior 

adviser said, adding the deficit 

would rise unless the government 

resorts to hefty spending cuts.



NEUTRAL STANCE: This results in large tax revenue Government. 
Spending is fully funded by Tax revenues and overall budget has a 
neutral effect on level of economic activity i.e., (G=T). 

EXPANSIONARY STANCE: government expenditure is more than taxes 
receipts 

CONTRATIONARY STANCE: Government expenditure is less than the 
taxes and revenues received.

Three Main Stances of Fiscal Policy 
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Instruments of Fiscal Policy

➢ Budgetary surplus and deficit 
➢ Government expenditure 
➢ Taxation- direct and indirect 
➢ Public borrowings(debt)

Funding

The expenditure of government can be funded in different 
ways : 
➢ Taxation 
➢ Borrowing 
➢ Consumption fiscal reserves 
➢ Sale of fixed assets. 

Government Expenditure Financing
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Budgetary surplus and deficit: “A budget is a detailed plan of
operations for some specific future period to keep budget in
balance in surplus or in deficit” An accumulated deficit over
several years (or centuries) is referred to as the government
debt A deficit is a flow. And a debt is a stock. Debt is essentially
an accumulated flow of deficits.
➢ When the government keeps its total expenditure = to its

revenue is means it has adopted a Balanced-budget policy.
➢ When the government decides to spend more than its

expected revenue means the government pursuing a deficit-
budget policy.

➢ When the government adopts a policy of keeping its
expenditure substantially below its current revenue means
the following a surplus-budget policy.

Instruments of Fiscal Policy
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Government Expenditure It includes;
➢ Government spending on the purchase of goods & 

services,
➢ Payment of wages and salaries of government 

servants,
➢ Public investment ,
➢ Infrastructure development,
➢ Transfer payments 

(e.g.,pensions,subsidies,unemployment allowances, 
grants and aid, payments of interest, and 
amortization of loans)

➢ The government expenditure is an injection into the 
economy: it adds to the aggregate demand.

Instruments of Fiscal Policy
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Taxation: transfer of private income by means of 

taxes. Classified into;
1. Direct taxes- Corporate tax, Tax, Personal Income 

Tax, Banking Cash Transaction Tax ,wealth and 
property tax.

2. Indirect taxes - GST, Basic Customs Duty, Central 
Excise and VAT on petroleum products, State taxes 
on alcohol for human consumption, Electricity 
duties, Stamp duty, Securities Transaction Tax, 
Property taxes and other taxes to municipalities 
and Toll tax

Instruments of Fiscal Policy
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Public borrowings (debt) : to finance government’s budget 
deficits.
Internal borrowings 
➢ Borrowings from the public by means of treasury bills and 

govt. bonds(it leads to a transfer of purchasing power 
from the public to the government ( contractionary fiscal 
policy))

➢ Borrowings from the central bank (it leads to monetized 
deficit financing (expansionary fiscal policy))

External borrowings 
➢ Foreign government
➢ Investments international organizations like World Bank & 

IMF 
➢ Market borrowings

Instruments of Fiscal Policy
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The target variables of fiscal policy,i.e., the variables 
which are sought to be changed through fiscal 
instruments are:
I. Private disposable incomes,
II. Private consumption expenditure,
III. Private savings and investment,
IV. Exports and imports, and
V. Level and structure of prices.

The interdependence of target variables--disposable income, consumption expenditure, savings, 
investment, imports, and price level-can be demonstrated by using the aggregate demand function.
The aggregate demand (AD) is given as: AD=C+I+G+X-M
where, C = consumer demand, I = investment, G = public spending, M = imports, and
X = exports.
In the short run, C = f(Yd), and M = f(Y)
where, Yd = Y - tY = disposable income, Y = gross income, and t = tax rate.

Target Variables
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How Fiscal Instruments Affect Target Variables
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1. Automatic Stabilization Fiscal Policy,
2. Compensatory Fiscal Policy, and
3. Discretionary Fiscal Policy.

Kinds of Fiscal Policy
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Automatic 
Stabilization 

Policy: 

➢The automatic fiscal policy means adopting a fiscal
system with built-in-flexibility of tax revenue and
government spending.

➢Built-in-flexibility means automatic adjustment in the
government expenditure and tax revenue in response
to rise and fall in GDP.

➢Tax revenue increases and government expenditure
decreases automatically, with an increase in GDP. Tax
revenue increases because household income
increases with increase in GDP.

➢Tax revenue decreases and government expenditure
increases automatically, with decrease in GDP and
increase in unemployment.



Automatic Stabilization Policy:
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Fast 
Growing 

Economy

➢In a fast growing economy, tax collection increases with
increase in incomes which constraints aggregate demand.
On the other hand, unemployment decreases causing
decline in government spending. The increase in tax
burden and fall in public expenditure work as restraint on
the effective demand-these factors reduce the growth of
aggregate demand. This prevents excessive rise in the
price level.

Period of 
Depression

➢During the period of depression, on the other hand, this
policy is supposed to result in reduced taxation due to fall
in taxable incomes and increase in government
expenditure on unemployment compensation, or
unemployment relief payments and unemployment
insurance. This kind of taxation system halts decrease in
private aggregate demand by way of lower taxation, and
adds to the aggregate demand by increasing government
expenditure. This prevents the economy going into deep
depression.



The compensatory fiscal policy is a deliberate budgetary action taken by the government to compensate for the
deficiency in, and to reduce the excess of, aggregate demand.
The compensatory action is taken by the government in the form of surplus budgeting or deficit budgeting.

Compensatory Fiscal Policy

44

➢The compensatory measures may be in the form of tax reduction and enhanced government spending. 

➢This kind of fiscal measures increases aggregate demand. Increase in aggregate demand leads first to the 
rise in price level.

➢It adds to the producers' profit with a time lag in increase in costs. 

➢This increase in profits creates an optimistic environment. 

➢Therefore, both opportunity and incentive to invest increase. 

➢This is supposed to push up the level of employment and output. 

The policy of deficit budgeting is adopted to fight depression in the economy. 

➢Surplus budgeting is a powerful tool to control the aggregate demand. 

➢Under this policy, the government keeps its expenditure lower than its revenue. 

➢If necessary, the government may resort to a higher rate of taxation and cut its expenditure further 
down.

➢Taxation reduces disposable income. 

➢As a result, the aggregate demand decreases at the rate of tax multiplier. 

➢On the expenditure side, a cut in the government expenditure reduces the aggregate demand at the 
rate of expenditure multiplier. 

➢The two-prong attack on the aggregate demand helps reducing the demand pressure and, thereby, 
the inflation.

The policy of surplus budgeting is adopted by the governments during the period of 
high rate of inflation, especially when inflation is caused by excessive demand. 



Discretionary Fiscal Policy
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➢the size of the government expenditure,

➢the pattern of government expenditure,

➢the methods of financing government expenditure, 

➢transfer payments (e.g., subsidies, old age pensions, unemployment relief, etc.), 

➢overall budgetary surplus and deficit, and 

➢the methods of deficit financing.

Discretionary Changes in Government Expenditure:

➢increasing or decreasing the tax rates, 

➢imposition of new taxes or abolition of existing taxes, and 

➢Imposition of taxes on new tax bases. 

➢All these kinds of changes in taxation result in either the flow of household incomes to 
the government or to reduction in such flows.

Changes in Taxation: The discretionary changes in taxation include such changes in both direct 
and indirect taxes as:

A discretionary fiscal policy is one in which ad hoc changes are made in the government expenditure and 
taxation system and tax rates at the discretion of the government as and when required.
In discretionary fiscal policy, the government makes deliberate changes in
(a) the level and pattern of taxation,
(b) the size and pattern of its expenditure, and 
(c) the size and composition of public debt.



Crowding-out
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Crowding-in means rise in the private investment due to
deficit spending by the government.
Deficit spending leads, undoubtedly, to the rise in the
interest rate which discourages private investment.
But, government deficit spending leads to rise in the
aggregate demand. The incremental demand is met by
increasing the production from the existing capital stock.
This brings the acceleration principle in force and intensive
use of existing capital results in a greater depreciation.
Therefore, demand for capital increases. That is, deficit
spending stimulates new investments. This argument,
however, holds only when there are unutilized resources.

Crowding-in
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➢ Fiscal policy is government’s programme of
taxation, expenditure and other financial
operations to achieve certain national goals

➢ Taxation policy functions include Revenue
Function and Regulatory Functions

➢ Taxation policy anomalies include very high tax
rates, cascading nature of tax system, anomalies in
individual taxes and is administratively complex

➢ Taxation Policy Reforms brought in changes in
personal income tax, company income tax, excise
duties, GST and import duties

Summary
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